Exit Ticket C3 - Fractions of an Amount

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

E Explanation:

Correct Answer: ABCD

Name:
- -
AQAZ %
Which of these is the biggest?
A B (o} D
1 1 1 A
gof72 7 of70 5 of 40 10 of 60
||
AQA™
.-
Whatis 3 of 48?
A B C D
8 16 72 32
|
AQA™
George has i) of a pizza
o0 3
He eats a quarter of his share.
Whatfraction of the whole pizza does he eat?
A B (o] D
11 4 1 15
20 5 5 16

g Explanation:

This quiz was created on www.diagnosticquestions.com.



	Exit Ticket C3 - Fractions of an Amount

